
 

Assembly Manual
FJ-P2 Vertical Tilting Bed

UN-1506 Hardware



 O1     
    (5PCS) 

    (D4*30) 

Hardware List

Exterior Standing Frame Fitting

Bedframe Fitting

Bookshelf Fitting

Pre-assembled Fitting
There hardware have been assembled into the unit,so you don’t need to look for them into the bags 

301

    (1PC) 

    (115*100*38.5) 

AZ4       AZ2  AZ3

 T16

 AZ5  AZ6  AZ7  AZ9 AZ1
    (2PCS) 

    (D14.7*58) 

    (2PCS) 

    (D19*48) 

    (4PCS) 

    (D33*10) 

    (2PCS) 

    (D20*3.5) 

    (2PCS) 

    (D20*7) 

    (2PCS)     (1PC) 

    (100*40*5)     (100*50*30) 

    (4PCS) 

    (D10*5) 

F13    
(2PCS)

    (96*96*12) 

(2PCS)
Q3      

    (M8*25) 

R3      
    (4PCS) 

    (M6*15) 

A10     A1     B1     G1     E1     F1     I1     S4     A5     

C13      
    (2PCS) 

    (50*1.5) 

B13      
    (2PCS) 

    (50*1.0) 

A13      
    (2PCS) 

    (50*0.6) 

H7      
    (2PCS) 

    (M8*1) 

E7      
    (2PCS) 

    (D8*1) 

O7      
    (2PCS) 

    (M8*8) 

    (2PCS) 

    (M8*70) 

(1PC) (36PCS) (20PCS) (8PCS) (8PCS) (8PCS)

(78*20*15) (D15*13) (D7*32)

(28PCS)

(D6*30)

I7      

    (2PCS) 

    (60*30*30) (D7*48)

(8PCS)

(D10*40)

J7      
    (2PCS) 

    (M6*80) 

S7      
(2PCS)

(2PCS)

(4PCS)

(4PCS)

    (2PCS) 

S3      

    (M6*30) 

    (M6*40) 

    (M6*50) 

    (M6*55) 

H2      

J3      

K3      

    (200*40*3) 

    (8PCS) 

 K7

(D15*22) (D8*47)

 G6     
    (2PCS) 

    (1PC) 

 Q15

C3      B3      D3      U3      F7      F3     

I6      A7      V10      B16     

Q5      

L6     

    (4PCS) 
 P13

T3      
(1PC)

    (M8*15) 

L1      
(8PCS)

    (D3*16) 

    (D21.8*91.5) 

    (85*70*70) 

17      
    (1PC) 

P6      
    (4PCS) 

     (1000N/300N D 22*620) 

    (51*26*5) 

P5      

(54PCS)

    (M6*30) 

(70PCS)

    (M6) 

(2PCS)

    (M8*35) 

(24PCS)

    (M6*12) 

(6PCS)

    (M6*15) 

(4PCS)

    (M6*20) 

(2PCS)

    ( ) D20*D12

(8PCS)

    (M8*8) 

 O1     
    (2PCS) 

    (D4*30) 

    (1PC) 

    (D17*41) 

C16     
    (1PC) 

    (D17*46) 

(3PCS)

    ( ) 180*120*3

(2PCS)

    ( ) 42*21*5

(4PCS)

    (2PCS) 

    (D16*33) 

    (1PC) 

 R15
    (90*70*55) 

    (2PCS) 

 J15
    (50*25*3) 

    (2PCS) 

 P15
    (70*29*3) 

 AZ12  AZ13  AZ14
    (2PCS) 

    (M6*10) 

    (8PCS) 

    (M6*42) 

 AZ8
    (1PC) 

    (100*50*30) 

    (1PC) 

 AZ10

    (2PCS) 

    (M8*15) 

    (115*100*38.5) 

    (1PC) 

S15
    (1PC) 

D16  U16
    (8PCS) 

    (8*7*7) 

 U15
    (1PC) 

    (D35*15) 

 V15
    (1PC) 

    (100*60*30) 

 T15
    (1PC) 

N1      
(22PCS)

    (D4*14) 

E3     
(2PCS)

    (M6*25) 



1

2

3

4

5

7

10
12

13

15

15

13

1

2

1 3 2

8

9

UK-1501

6
17

11

PL-1506PL-1506

UL-1501

PL-1506

UL-1501

Panels and Bedframe:

229



1

2

3

4

5

6

17

(1PC) (36PCS) (20PCS) (8PCS) (8PCS) (8PCS)

(78*20*15) (D15*13) (D7*32)

(20PCS)

(D6*30) (D7*48)

(8PCS)

(D10*40)

 K7     
    (8PCS) 

A10     A1     B1     G1     E1     F1     I1     S4     

(D15*22) (D8*47)

    (1PC) 

    (115*100*38.5) 

 AZ6  AZ7  AZ9
    (2PCS)     (1PC) 

    (100*40*5)     (100*50*30) 

 AZ8
    (1PC) 

    (100*50*30) 

    (1PC) 

 AZ10
    (115*100*38.5) 

Exterior Standing Frame Fitting

Pre-assembled Fitting

 K7     

 K7     

283

N1      

  
  
3

5
0
m
m
 

G6     

N1      

Step 25

    (2PCS) 

G6      V15

    (100*60*30) 

    (1PC) (2PCS)

    (D4*14) 

N1      B3      
(4PCS)

    (M6*12) 



(1PC) (8PCS)

(78*20*15)

(28PCS)

(D6*30) (D7*48)

A10     G1     S4     

17

6

5

S4     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     

G1     
G1     

G1     
G1     G1     

G1     G1     
G1     

G1     

G1     

G1     

S4     

S4     

S4     

S4     

S4     

S4     

S4     

G1     
G1     

Step 1

B1     
3

B1     

B1     

B1     

2

(8PCS)

(D7*32)

B1     

427

A10     

S4     

G1     

L1      

(8PCS)

    (D3*16) 

L1      

L1      

L1      

L1      

15

15

15

Step 24



I1     

E1     
E1     

I1     

1
F1     

F1     

4
16

I1     
F1     I1     

E1     
E1     

E1     

F1     

F1     

I1     

F1     

I1     
F1     

I1     

I1     
I1     

F1     
F1     

(1PC) (12PCS) (8PCS) (8PCS)

(78*20*15) (D7*32)

(8PCS)

(D10*40)

A10     B1     E1     F1     I1     

(D15*22) (D8*47)

Step 2

B1     
B1     B1     

B1     B1     
B1     

B1     
F1     

B1     B1     
B1     B1     

B1     

265

    (1PC) 

 U16
    (8PCS) 

    (8*7*7) 

    (1PC)     (1PC) 

D16  T15 S15

Step 23

      socket 

cross section

D16:Power adapter

S15:Motor controller

T15:Remote control



Step 3

A1     
(36PCS)

(D15*13)

5

6

3
2

4

1

17

625

B16     

17      

    (1PC) 

 O1     

    (2PCS) 

    (D4*30) 

    (1PC) 

    (D17*41) 

C16     

    (1PC) 

    (D17*46) 

    (1PC) 

S15

 U15
    (1PC) 

    (D35*15) 

B16     C16      O1     

 O1     

S1517      

 U15

Step 22



A

B

C13      
    (2PCS) 

    (50*1.5) 

B13      
    (2PCS) 

    (50*1.0) 

A13      
    (2PCS) 

    (50*0.6) 

4

Step 4

247

Step 21

    (12PCS) 

    (M6*30) 

 F3     
    (12PCS) 

    (M6) 

 F7      
    (4PCS) 

    (M6*20) 

D3     D3     

D3     

 F7       F3     

WARNING: 

WATCH YOUR HAND UK-1501

UL-1501-

8

2
UL-1501-

1

9D3     

D3     

D3     

 F3      F3     
 F3     

 F3      F7       F7      
 F7      



Wall

Ground

A5

Q3

Or

I7

H7

A5
E7

O7

    (2PCS) 

    (60*30*30) 

H7      
    (2PCS) 

    (M8*1) 

E7      
    (2PCS) 

    (D8*1) 

O7      
    (2PCS) 

    (M8*8) 

    (2PCS) 

    (M8*70) 

I7      J7      
    (2PCS) 

    (M6*80) 

S7      

    (2PCS) 

    (200*40*3) 

A5      

J7      

S7       Q3
    (2PCS) 

    (M8*25) 

A5

Q3

R3      

(2PCS) (2PCS)
S3      

    (M6*30)     (M6*40) 

H2      R3      
    (4PCS) 

    (M6*15) 

F13    
(2PCS)

    (96*96*12) 

F13      

Step 5

823

Step 20

    (5PCS) 

    (D4*30) 

 O1     

 O1     
1

UL-1501-

UL-1501- 2

 O1     
 O1     

 O1      O1     



Step 6

229

(4PCS)

    (M6*55) 

K3      

    (1PC) 

 Q15

    (85*70*70) 

C3      

(2PCS)

    (M6*15) 

K3      

K3      

K3      
K3      

C3      

C3      

 Q15

 Q15

Step 19

 C3

    (4PCS) 

    (M6*15) 

 F7      

    (4PCS) 

    (M6) 

13

 C3

 F7      

 F7      

 C3

12

13



Step 7

1021

 F3      
 F3      

 13      

 13      

    (4PCS) 

    (M6*30) 

 F3      

Step 18

 B3      

    (2PCS) 

    (M6*12) 

 Q5      

    (2PCS) 

    (D16*33) 

  10     

    (2PCS) 

    (D20*D12) 

 Q5       V10     

 V10     

 B3



Step 8

2011

    (4PCS) 

    (M6*12)

 L6      
    (2PCS) 

    (180*120*3) 

U3      

T3      

(1PC)

    (M8*15) 

(2PCS)

    (M8*35) 

    (1PC) 

 R15

    (90*70*55) 

 R15

 R15

 R15T3      U3      

U3      

 B3      

 L6      

B3      B3      

 L6      

B3      B3      

Step 17

 B3      

    (4PCS) 

    (M6*12) 

 B3      

11      

 B3      

 B3      

12      

10      



Step 9

1219

 Mark

Az15      
(2PCS)

    (M6) 

 AZ5
    (2PCS) 

    (D20*7) 

Pre-assembled Fitting

 AZ3
    (4PCS) 

    (D33*10) 

 F3      

    (D19*48) 

 AZ2
    (2PCS) 

 AZ1
    (2PCS) 

    (D14.7*58) 

 Mark

Bedframe Fitting

    (M6*30) 

    (2PCS) 

 F3      

Step 16

 F3
    (38PCS) 

    (M6*30) 

 F7      
    (38PCS) 

    (M6) 

1
PL-1506-

3
PL-1506-

2
PL-1506-

Press      



Step 10

1813

Bedframe Fitting

    (M6*30) 

    (2PCS) 

 F3       T16
    (2PCS) 

    (D20*3.5) 

    (2PCS) 

    (D14.7*58) 

 AZ1

Pre-assembled Fitting

 AZ2
    (2PCS) 

    (D19*48) 

 AZ3
    (2PCS) 

    (D33*10)     (D20*7) 

 AZ5
    (2PCS) 

 F3      

3.5mm

 AZ3
 AZ5

 AZ1

Step 15

    (4PCS)     (8PCS) 

    (M8*8)      (1000N/300N D 22*620) 

above

    (115*100*38.5) 

    (1PC) 

    (115*100*38.5) 

 AZ10
    (1PC)     (4PCS) 

    (D21.8*91.5) 

 P6       A7 A7  P13 AZ9

Bedframe Fitting Pre-assembled Fitting

 P6      

 A7

 AZ9

 P13

 A7

 P6      



    (2PCS) 

    (D20*7) 

 AZ5
    (M8*15) 

 AZ13
    (2PCS)     (2PCS) 

    (D33*10) 

 AZ3

Step 11

    (2PCS) 

    (D19*48) 

 AZ2

 AZ3

7mm

 9

 AZ13
 AZ2

 AZ5

 8Level

Level

Step 14

 P5      

    (4PCS) 

    (42*21*5) 

 I6      

    (3PCS) 

    (51*26*5) 

16

(4PCS)

    (M6*50) 

J3      

 P5       I6      

 I6      

J3      

J3      

Exterior Standing Frame Fitting Bedframe Fitting

1417



Step 12

(4PCS)

    (M6*12) 

(2PCS)

    (M6*15) 

    (2PCS) 

    (50*25*3) 

    (2PCS) 

    (70*29*3) 

    (4PCS) 

    (D21.8*91.5) 

(4PCS)

    (M4*10) 

 P13C3      B3      A16       P15 J15

C3      

 J15

 P15

 P13
 P13

B3      

A16      

B3      

A16      

Step 13

    (2PCS) 

    (M6*25) 

 AZ12
    (2PCS) 

    (M6*10) 

 E3 AZ8
    (1PC) 

    (100*50*30) 

 AZ6  AZ7

    (2PCS)     (1PC) 

    (100*40*5)     (100*50*30) 

Az12 E3

 AZ7 AZ6

Ground

Raer Front

1615


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16

